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10, (28%) BigEH:

Three firms produce a homogencous good. The firms’ total cost furictions,
showing annual total cost in doliars 2s a function of cutput in tons, are:

£=1000-407 where ¢ isintonperannumand P is in dollars. The
firms® total cost functions, showing annual total cost in doilars as a function of
cutput in tons,

Ci=20g : €,=0075¢] +13.5¢, ; C,=0005¢" +16.3¢,

The firms practice Cournot behavior and achieve a Cournot equilibrium.

Caleulate for each fim:

10-1. (6%%) Price.

18-2. {6%) Output

10-3. (6%) Profit

The dominant firm offers Lo buy the other two firms at prices equal 1o the

currenl market value of their assets plug the capitalized value of their

current profits (capitalized at the curvent rate of interest). Under the
implicit threat of 2 predatory price war the uther firms aceept. The
dominant firm’s plans to exploit monapaly power are thwarted, however,
when the government responds {0 the merger by imposing 2 maximum
price 50 cents lower than the previous equilibrium price. The monopolist
adjusts to the maximum price 5o as to maximize his profits.

10-4. (5%} Is the monopalist better or worse off than he was before the

metrger?

10-5. (5%0 Are consumers better or worse off than before the merger?
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